wHETDBig

= (MX) AAA - HE

(SFITESAT1HIRTE)
LE=BHBAA., TE=5EA
—— | = X T8 THHE
£ 028 A| . OTAAN| 1,102 \) A443{t7
16 A 9A 25 \ 19t &
aeE 399N .. A01A[  BOOAL ~359{HH
61A 24 N\ 85 A 661H T
Il | 1,085 1,109A] 2,194 A] 9201t
31 A 25 \ o6 A 301
A | S01T Al S1TAl 1,018 A] A454{H7
27T\ 16 A 43 N\ 261H
TR ] A5 \| . A39A [ . 8BAN]  330fHT
1MTA 6A 17N M#E®
BiE | 110N 104N 214A] 89t
PN OA PN HiHtHr
TERE | STAlL.. 67Tl 124 \| .. 45t
3A OA 3A St
S | 186 A( . 192A|  3I8A|  148it+
9A 6A 15N 61H
AR .. 881A...932 A 1,813A T1fts
24 N\ 32\ b6 A 41
T=H | . 188 A[ . T90OA| ~378A| 14917
9A 15N 24 N\ 221 &
THE | 229 \)....260A| ABIAN| 231t
IPN 3A 3A St
T JA,6090) 4,785 A 9,394 A] 3, 879t
196 A 136 A 332\ 2251
Bett® | (BAA+HSEADOHE) 301H
st 4,805 A1 4,921 A 9,726 \] 4, 0741
WEr=BAXAANHEFT+HNEAEHT—ESHT
(NHEAEHTFITEESHENEENTWLS =)



